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Introducing the view you oppose

Many people believe that social media is a beneficial tool in our
daily life.

Acknowledging the view you oppose

It is true that social media does give us more opportunities to
share news and ideas in our community.

Refuting

However, I argue that social media has more disadvantages than
advantages.

Supporting 1

To begin with, invasion of privacy is always a danger on social
media. This is because our personal data can easily be hacked
and shared on the Internet. When your information is made
public, you are the one that suffers from all the losses.

Supporting 2

In addition, social media can have a negative impact on your
academic performance. This is because using social media is




distracting and time-consuming. You can end up wasting all your
time instead of working on your assignments and improving your
grades.

Conclusion

Therefore, 1 strongly believe that social media is more harmful

than helpful and that we should reduce the use of it.

I Disagree with Your Argument!

A1

<Introducing the view you oppose>

Starting with the trend of the short-form content platform 'TikTok', many people
think that short-form content is efficient content.
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<Acknowledging the view you oppose>
This is because the consumer's day is 24 hours, so they can communicate
through short platform contents to get new information and have fun.
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Refuting

However, I argue that short platform content is not efficient because it is
adversely affecting our lives.
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<Supporting 1>
Short platform content is difficult to convey in-depth knowledge. This is because
it is difficult to contain complex and diverse information within a limited time and
space due to the nature of short platform content. Therefore, it is not possible to
develop comprehension and literacy more when consuming long content.
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<Supporting 2>

In addition, all the short-form content we consume is 'similar things'. This is
because the algorithm continues to show only similar things. This phenomenon is
referred to as a 'filter bubble'. If people continue to be exposed to filter bubbles,
they will have difficulty listening and acknowledging others' opinions. This can

lead to a number of social problems.
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<Conclusion>

Therefore, I strongly believe that short platform content is not efficient. We need
to find deep content, not rely too much on short content.
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